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But if he said, ‘give’, we give - PINN 1IN MWR N7

Overview

The mwn stated if one found 2°w1 *v°3 (and other documents) he should not return
them (to the recipient), for perhaps those who wrote them reconsidered and decided
not to give them to the intended recipient. The & 13 infers from the expression, 7221
1nY XKW 1°9Y°, that if the maker of the vw said ‘give it to the recipient’, we give it
to them,! even if a long time had passed since it was lost (and we are not concerned
maybe this 20w belongs to another party with similar names). n1901n discusses the
validity of this inference.

mMooIN asks:
= 123593 1PN 195 AN 179N NNIJT 19310 9NN ON)

And if you will say; how do we know that if 11011 110 7nX; perhaps even if he said

110, nevertheless §93n11 198 (because it may not be their v3) -
- 292839 MYY YYN NY 19 HNNM PNYY NIY T923) 1ND 397 7903 NPT N

And from this which the 7awn stated "T»21', there is no proof that 1°1111 110 K 0K,
for this is what the 71w» means when it states; ‘and he reconsidered’ not to give
the va to his wife, to explain that on account of his decision not to give it, he was

not careful to watch it and the v was lost -
= 135 99N 1991 TARY VI INTY 9207 AYWIITI MIND AN YA

And now when the v3 was found he again wants to divorce her with this v3, for he

assumes that this is the w3, which he lost, so he says, ‘give it to my wife -
= 1Y 1NYY INNMD DAY NIN 109) N1 PN NPT 3123593 PN 91 1999N)

But nevertheless (even though he says 11n) we do not give her this v3, for perhaps
this is not his v» which he wrote, but rather it was lost from someone else who

name is like his name and the wives names are also the same -
- MYV N ION AINIY DIN NY PAINN DY AYINTR N9INNIY 7913 NY Yan

! Presumably the inference is that 7921 means that he reconsidered and did not divorce her (with this v3), so therefore

we cannot give it to her since she may not be divorced, but if he says 110 (meaning that I do want to divorce her with

this v3, so there is no concern of 7711) we give it to her (despite the concern that it may not be their v3). oI will

challenge this assumption.

21911 is not meant to used as an inference (7°3M3 1N 71X K1), but merely as an explanation why the 3 was lost.

3 mpon is (now) saying that when the mwn states 91 X2 it means even if he said "an' (and "7 is merely an

explanations how it was lost).

4 mooin is explaining why the 71wn states 7211 (that it may not be as was presumed in footnote # 1, but rather the 71wn

states 721 for the following reason); for if not for the concern of 7911, meaning if a person writes a v3, there is no

reason to think that he may reconsider, but rather we assume that he (watches it carefully and he) gave it to his wife,
1
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But if he would not initially have retracted from divorcing her, but he divorced
her, we would return the w3 to her for proof that she is divorced (if the husband
says 11n), even if it is not her wa.

In summation; M0 question is that perhaps the 71w is stating that we do not return the 03 to the
woman (even if the husband says 1n) if there is a concern that he never divorced her (7711),
however if there is no such concern (there is no 79n1) then we return the vx to her for proof
(regardless whether this is her v3).

N150IN answers:
- 51313 XY 150 D239 530D R P17 1Y U

And one can say; that the X723 infers (that 7°1011 310 & aX) from the fact that the
mwn does not state, ‘we are concerned perhaps they were written and he did not

give them’ -
- SAYNY NNY DT INPN NNPY YUINY $DYN 799 53N0P70)
But since it stated instead that the concern is 7921, this indicates that the concern
is perhaps he does not want to divorce her now, implying -
= 993 HNNN NPV WINY PN 02N 1Y 191 99N ON YaN
However if he says 1an (where the concern of 7w ny 7317 1K does not exist), we
give her the v3, and there is no concern perhaps another person lost this 0.

In summation; according to Md0IN question since there is a wwn of 7711, we do not return it to her
(even if he says 11n), because perhaps he never divorced her (and this may not be her v1); however
if there would be no wwn of 7911 we return the 03, since she is (presumably) divorced already (for
there is no wwn of 7911). However in Mo0In answer, if there is a wwn of 7911 (even as of now) we
cannot return the v, however when there is no wwn of 7721 (currently), for he says 11n (I want to
divorce her now) we give her the v and are not concerned 51 R»n XKW,

then if a v3 is found and the husband says 110 we should return it to the wife, for it is possible that this is her v3, and
even if it is not her v3, since the husband says 11n that means that he divorced her already, so why should it be our
concern if she holds someone else’s 03 as proof. However since there is the concern of 7923, meaning that a person
may write a v} and then reconsider, therefore there is the concern here that he reconsidered and never gave her the 03,
therefore he lost it, and now when it was found he assumes that this is his original v3,, and he wants to divorce her
with it now, which we cannot allow, for perhaps it is not his original v, but rather someone else’s with the same
names.

5 If the concern (of 7911 is as stated in footnote # 4 (that he reconsidered initially), why mention 72nn, state simply
that there is the possibility that he wrote the v and did not give it to his wife. The explanation (see footnote # 2) that
'1on1 is written to explain why it was lost, is not satisfactory, since it is not relevant to the ruling of the mwn.

¢ The word 72»2 indicates that the reason we cannot give the 03 to the woman is because perhaps he reconsidered and
he never divorced her, and does not want to divorce her now, so how can we give her the v3; implying the if he says
1N, give her the vx now (I want to divorce her now), we give her the vi and she becomes divorced as of now.
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nvoIN asks:
- )Y KT 939 759979 NPIT INYNY NAYT 12191 1319 1959N) 1931 YINN ON)

And if you will say; and how do we know that if he said 110 we give her the 03 even
after a long time clapsed since it was lost, perhaps we give it to the woman (when

he says 11n), only if it was found immediately, as '3 asks later -
= 12999 P21 1929 NYNRD 9INT 19310 191N XYY 22N

And how does 1'% himself know that we return it to the woman even after a 27

a2 -
= 5155930105 9N N2190 P 9INRP NNI2T I VIV NNPN)

And why does 1" find the 8n>m2 to be more obvious that it means 7721% 21,
more than our mwn?!

NID0IN answers:
= 112799 119D 129N NYNRD 99N> NN HYANY 1ITAT ¥IYWN RN2II1DT 910 U

And one can say; that from the Xn>92 it seems that when the husband admits

(that he divorced her) we return it to the woman even after a ;71292 a7 -
= INVIVWD NPT INYHND INT

For if the mwn meant that we return it to the woman only if it was found

immediately, that is obvious -
= 1095519351193 ¥9I91 130N 12353 935 99N ONT NPT INIYNRY 9129199 281 PN anna Yan

However regarding our 71w, it is possible to assume that we return it only if it
was found an®RY after it was lost, since it does not say explicitly in the 7w that

771091 920 2R 2R (it is only an inference) -
= 1923 RNV 1PUMNT N NDT 1PMNYUNRT NOIN N9 NN

And the 73wn intends to inform us the explicit rule of the 71w» namely that X5

=v11> (where he did not say 11n) for we are concerned 7221 X»® (but not to infer that
721 919 129K I 1N K ox)!.

72,m. See following footnote # 8.
81" cited a Xn*>12 which states TWRY 17 77 YYATW AT P2 WK VY XX, and 1" interprets this XN>72 that AWR? VI
means 721 17 1998, However regarding our 73wn (of 15 7217), 1" comments 2717 12981 1011 10 IR K7 °I0p 0
721, The question here is why did 1"1 assume that the Xn>92 means 172177 172 12°08) °117°, however the inference of
the mawn that 113 110 X X7 is only 09X, but not 7211 MT5.
%It was found immediately after it was lost (so there is no concern that it may be someone else’s v3), and the husband
admits that he divorced her with it, there is no reason why not to return it!
10 Had the mwn stated explicitly 73m311n 7»x, perhaps we could have interpreted it mean 72177 717 12°0% (for otherwise
what is the w17°n). However since the miwn merely tells us the rule of 7°11° X%, so perhaps it only intended to teach us
the rule of 711> X9, but not the inference that 72177 7212 12°08) 11011 110 K OR!
' We certainly know that 9n%X> 1°3m13 110 R o (for this is X0>wD), see footnote # 9, but we cannot infer 72177 1215.
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mMooIn now explains the view of 7127 that even from our 71w»n we can infer that 1N 1IN MR OX

7217 A9 199K
- 103 X9Y 151 PN NP XY 1295912 %)) 9591 Ha9 Yan

However ;721 infers that since our 7w» states '77»11', and it does merely state

NI RDY 1957 P2ND -
= NVIY INDNRD INT N2 19D 199N 139911 123513 199 99N ON JIWINYNRY NNN 135 ON

Therefore the 71wn comes to teach that if 191031 130 92X, meaning even 572172 219,

for if the 71wn meant only 9n»RY, that is obvious and there is no need for the mwn to write
7%m11 in order to infer that.

mooin challenges the previous assumption that by In7X? there is no w17°n:
= YYTN M7 INHNRD 17 IN 1DIAN DN H9nNN ON)

And if you will say. But even if the rule of 1°1m1 110 9n% oX would be only anbR>,

it would still be a novelty that we return it to the wife, the w17 being -
- (4,07 97) 169999 759975 1559UN 1 1N XYY 10332 AN NIYT 1PWUHN N9

That we are not concerned that perhaps he wrote the v3 in 30°1 and did not give

it until the following >awn, as the X923 asks later, so there is a v17°1 even in a case of
In%X? so how can we infer that the 71wn means 72177 7A19?!

mooin asks a similar question:
= N9123Y NI 010 DY Y9NINRPT 1N YPINT N9 229 DY 75997 (3 mny) 1PV 19

And similarly later where the X713 challenges 729 '3, who established the case
of 71 (and we are not concerned perhaps this 2w was written for someone else),
where for instance the 2> testified, etc. that we only signed on one 70w with this
name, therefore there is no concern that this 70w may have been written for someone

12 See footnote # 6, that "77n11" means he does not want to divorce her now.
13 The fact that the mawn writes "79n11" indicates that the 71wn wants to teach us also the rule that 171111 1310 92X oX, that
rule is necessary to be taught only 721 1212, but not if the v3 was found immediately (for then there is no concern that
it may belong to someone else).
14 This question is both on 877 "7 and 7127 (since the both infer [respectively] that we return the 3 even 721 112, for
if it is INPRY, it is RL*WD)..
15 In this case she will be able to collect the M=o illegally from the mmp> who bought M "0 from her field between
1071 and wn. The n°o of the A9 021 (which a woman brought into the marriage) belong to the husband as long as
they are married. She will show the 3 which indicates they were divorced in 107, so therefore the husband had no
rights to the M7 from 70°3; when in actuality the divorce did not take place until the following *wn, so the husband
had the rights to the 70 until *7wn; the woman will be collecting the n7°5 which were sold between j0°1 and *wn
73 KOW.
16 Generally we are not concerned that *Wwn 7y 101 891 10°12 2N X»Ww; however when a “vw is lost, this indicates that it
was not properly executed (therefore it was not watched appropriately), in these cases there may be the concern of
Mwn Y Nl X 70°12 2N2 RAW.
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else. Regarding this answer of "1 the X723 asks if that is the case ‘what does this

teach us’, it is obvious that where there is no concern, that we will return the J0w. m9oI1n asks

on this challenge to > -
=919 10232 AN NIPYT 1OYN NDT )Y ¥NYN RPT RN

Let the X3 answer that this ruling is teaching us that we are not concerned X257
19%12 an>, etc.?!

N150IN answers:
- NN NYYN MO H¥AY PN MINT INNS 17199 99207 9119 U

And one can say that he agrees with the one who maintains that the husband

loses his rights to the M9 from the time the v3 is signed
= 11990 99V 291 IP2ANT MIVUN 1Y 1N KDY 1022 ANIT WITIN NIY INY

So therefore there is no novelty, for even if he wrote "wn 7v n1 8 jo013,
nevertheless she can legally claim the m7 even from j0°1.

Moo offers an alternate explanation why 1" derives 7217 1217 12°0% only from the &n*93, while

7127 derives it even from our 71wn:
- AYNY DTN 11N HYANY 112 5INPT N2Y91 PATY 1PN P57 NI 5294 189199 ¢ Ny

And additionally one can say; that 1''9 infers that we return the 3 even 72177 321,
since the Xn>12 states, ‘in a case where the husband admits, it is returned to the

woman’ -
=92 Y92 93299 993 NINNY ATINY ¥IYUN

This implies that he admits that she must have lost the v3, since he already

divorced her with it -
= 172 VXN VINIY 90 D98 19 DN NPT INIHNY IN)

And if the ruling of 7wX% 217> in the Xn*92 is only n%X%, therefore it will be

necessary to assume that we (i.e. witnesses) saw the v3 in her possession -
= 9NIND NINY P72 1IN N3 )9 ON 1PN ND INT

For if we did not see it by her; how do we know that it was found =n>x® -
= 19595 ynwn Xp INMDY 9N ROV NYINN 929 290 N792 VIN IINIY YINN)

17 This refers to 871 1,727, and the one who was challenging °n> . See ‘Thinking it over’.

18 The first explanation is valid only if we maintain 72°nn nywn M0 5v2% 1°X. However if we maintain that 9y2% >

71N1NYWw 7Y Mo, there is no proof that we return the V3 even 71217 117, This explanation will be valid even according

to the 7" that n2°n1 nyw 79 M 2% wo. See footnote # 20.

19 The marginal note here reads; 12 JTRWIANIW 7T BI? DTIP AT VAT 7T RPWT JOWMA KOT 12 yuwn Kp XaDT 70200 09

92907 577 DRATR 15T MW WO IR0NR NYWR 11100 Drab PR WART IRRY 9BR P70 KPR D110 RND 1000 7T a2 fum

93 IR T .TINIW INIRD IR AT ORTI2 0 AR 19w R, The 1793 asks; It is astounding; perhaps the Xn>>1 it teaching

us that we are not concerned that perhaps that the date on this found ®3 is prior to the date of the actual vs, with

which she was divorced, so she will be able to collect n17%2 illegally with this found vs, which was given to her
5
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So after we have seen the v3 in her possession, she was already divorced, so it is

obvious that 21,2’ then what is the Xn>2 teaching us -
= 9915 RY ININ 193 NN HYaAN PRI NN NY 1523 N NIN NV XD 129N NI

For even if this found ©3 is not her v, we will give it to her as proof that she is
divorced, and additionally even if the husband does not admit that he divorced
her why should we not return the 3 to her since we saw it in her possession -
= 99) Hyan NNY 1OPYUMNT 29 DY GNT 17 ¥IYN XD N2 VIN 1PN NIV 29990 INT) NON
Rather we are certainly discussing a case where we did not see the v in her
possession, and the Xn>72 teaches us that even though we are concerned perhaps
the husband lost it, meaning -
= D9) 9NNN NNPY 1IPYN XD VIN NINNA NNY YINN AW KD 1999
That he still did not divorce her, nevertheless we say nwx? 2711 that she should
be divorced now by the returning of the w3, for we are not concerned perhaps
someone else lost it -
- 21WND P2 IN YYD 13 99) 11 JPUTS XYT 1153 N2 11T 959N M1 )2 ON
Therefore since we do not know whether the man or the woman lost the v, so it
is obvious that the ruling of 7°117> is even 17219% 3219, This explains 1.

In summation; the proof of 1" that we return it even 77217 117 is from the assumption that 72712
77 H¥anw means that he admits that he divorced her. Therefore if we assume that 9°1> means
In7X%, we have to assume that 07y saw her in possession of the v3; otherwise how can we know
that it was found 2n2R> (right after it was lost), unless we know where it was immediately before
it was lost. In that case there is no novelty that we give her the v3, for it can do no harm; we know
she is divorced, so we give her a v3 (whether it is hers or not) to prove that she is divorced. There
can only be a novelty if it was not 1n?R?, but even 72177 1212, meaning that we do not know who
had the v before it was found (whether the husband or the wife) and nevertheless we return it.

merely as a proof that she is divorced. This problem exists even according to the 7'"2 that nywn m= bpab PX
smonn (because it is very possible that the 7°nm on the original v3 was much later than the date on this found v3). The
1193 answers; and one can say; since the husband admits that he divorced her and he assumes that this found v is
his v (with which he divorced her) therefore certainly the date on the found v is the same as the date on the lost
v} (otherwise why does he assume that this is his v3). This concludes the 119%3.
20 There is no question here that perhaps the w1711 is that we are not concerned for *Wwn T¥ JN3 X1 10°12 20D RAW (see
previous footnote — 1773 and footnote # 18). See (7237 X 1"72) 71217 Pyn based on 821 7"7 2,2° 'o1n that there is a wwn
only when we are not sure that the "vw was given, however once the 20w (in this case the v3) was given (as verified
by 0>v) there is no wwn of >wn 7v 101 X1 70712 205.
2! The difference between the original proof (that 21> means 7217 121%) and this proof (of the "), is that originally
the Rvwn (of IN9R) was based (only) on the admission of the Hv2 (we do not know for sure that he divorced her),
therefore the question of *wn ¥ 101 R 10°12 205 arose. However in this answer noon is arguing that the only way to
know that it is 19X is if we saw the v in her possession, in which the R wd is stronger and there is no concern of
*WN Y 101 891 70°12 203 (see footnote # 20).
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= 2219989129 NYIN Y9DYT NN NI 11ITY 199N 133 PHINNT P*T NAN
And 727 infers that our ;73w% also means that it is to be returned even 572192 37219,

similar to 91381 77297 MWW in the X9°0 of the mwn -
- NDUOYD D752 1NV 13990 ININYT H2191 119 1999N 91N>

Where the term =117 there means 72172 2t 19988, for if 71 is only =“noxb,

meaning that we saw the 71752 7¥°%n 0w, it is obvious that we return it to her -
= NTY 1IN ITION NINIY 1Y 99N NEONT IS

For since we know that she performed 572%1 we will return it to her for proof that

she had 7%¥°%1, even if this found 7x°>n 20w is not hers -
= NAM 1)9?7 13957 NSYNY )24 ' b4 NY GN) N2 1ION9 NOVY 99919 NHN

Rather, that case of 7% is where we did not see the ;77°2 7¥°%171 0w, and in fact

we do not even know 13%mw, so that is a case of 7712191 3%, and we still return it to her -
INDYDT NIMIT NY I N N7 229) NYI92 299107 199 YPYUN 907 NI

And so 727 assumes that the Xw>9 is similar to the 8939, meaning that the inferred
ruling applies even 1217 1117; however "' does not wish to establish the X2 (by
1) similar to the 890 (of 7x>on Mww).

Summary
1"9 infers from the X012 that 7°1m° is 721 119, for AN9RY it is XvWwo; however the

mwn does not state 771, therefore there is no proof. However 727 infers from the
word 771 that it specifically teaches us the inference that 130111 130 9K and n9XY it
is Xvwo. [However we need to assume that 7m°nn nywn 7o 5va% PX; otherwise it is
not Xv*wd.] Alternately 17 derives from the &n>*72 that it cannot be 2n?X> for since
the 0>7v saw the v by her (otherwise how can we know that it is °n9R?), therefore it
is X wo. 7127 derives that our 71w is like the X9°0, where it must be 721 721°.

Thinking it over
nIo0IN writes that there is no W17°17 in that we are not concerned N1 X?1 70°12 2N3 RHW
"wn 7V, since they maintain like the 7"» that 7n°nn nywn Mo Hva% Pr.2 However

this itself is a w17°n that 7200 nywn M Hyad Pr?21%

22 See the mwn on X,2.
23 See footnote # 17.
24 See 0w o"n.
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